

6.4  
 35.  $y = \frac{x^3}{6} + \frac{1}{2x}$ ,  $[1, 2]$  area of surface obtained by revolving around x-axis

$$\int_1^2 2\pi \left( \frac{x^3}{6} + \frac{1}{2x} \right) \sqrt{1 + \left( \frac{x^2}{2} - \frac{1}{2x^2} \right)^2} dx$$

$$= 2\pi \int_1^2 \frac{x^4+3}{6x} \sqrt{1 + \left( \frac{x^4-1}{2x^2} \right)^2} dx$$

$$= 2\pi \int_1^2 \frac{x^4+3}{6x} \sqrt{\frac{4x^7+x^8-2x^4+1}{4x^4}} dx$$

$$= 2\pi \int_1^2 \frac{x^4+3}{6x} \cdot \frac{\sqrt{x^8+2x^4+1}}{2x^2} dx$$

$$= 2\pi \int_1^2 \frac{x^4+3}{12x^3} \sqrt{(x^4+1)^2} dx$$

$$= \frac{\pi}{6} \int_1^2 \frac{(x^4+3)(x^4+1)}{x^3} dx$$

$$= \frac{\pi}{6} \int_1^2 \frac{x^8+4x^4+3}{x^3} dx = \frac{\pi}{6} \left( x^5 + 4x + 3x^{-3} \right)$$

7.  $y = \frac{x^4}{8} + \frac{1}{4x^2}$   $[1, 2]$

$$\int_1^2 \sqrt{1 + \left( \frac{x^3}{2} - \frac{1}{2x^3} \right)^2} dx$$

$\left( \frac{1}{4} x^{-2} \right)'$   
 $-\frac{1}{2} x^{-3}$

$$= \int_1^2 \sqrt{1 + \left( \frac{x^6-1}{2x^3} \right)^2} dx$$

$$= \int_1^2 \sqrt{1 + \frac{x^{12}-2x^6+1}{4x^6}} dx = \int_1^2 \sqrt{\frac{4x^6+x^{12}-2x^6+1}{4x^6}} dx$$

$$= \int_1^2 \frac{\sqrt{x^{12}+2x^6+1}}{2x^3} dx = \int_1^2 \frac{\sqrt{(x^6+1)^2}}{2x^3} dx$$

$$= \int_1^2 \left( \frac{x^6}{2x^3} + \frac{1}{2x^3} \right) dx = \dots$$

### 7.1 Basic Integration Rules

$\int \frac{4}{x^2+9} dx$ <div style="border: 1px solid black; padding: 5px; width: fit-content; margin: 5px auto;"> <math display="block">= \frac{4}{3} \arctan \frac{x}{3} + C</math> </div> <del><math display="block">\frac{a \cdot b}{c} = \frac{a}{c} \cdot \frac{b}{c}</math></del>	$\int \frac{4x}{x^2+9} dx$ $u = x^2+9$ $du = 2x dx$ $2du = 4x dx$ $\int \frac{2du}{u} = 2 \ln u $ <div style="border: 1px solid black; padding: 5px; width: fit-content; margin: 5px auto;"> <math display="block">= 2 \ln(x^2+9) + C</math> </div>	$\int \frac{4x^2}{x^2+9} dx$
$4 + \frac{-36}{x^2+9}$ $x^2+9 \overline{) 4x^2}$ $\quad \underline{-(4x^2+36)}$ $\quad \quad \quad -36$	$= \int \left( 4 + \frac{-36}{x^2+9} \right) dx$ <div style="border: 1px solid black; padding: 5px; width: fit-content; margin: 5px auto;"> <math display="block">= 4x - 12 \arctan\left(\frac{x}{3}\right) + C</math> </div>	

$$\int \frac{1}{1+e^x} dx = \int \frac{1+e^x - e^x}{1+e^x} dx$$

$$u = 1+e^x$$

$$du = e^x dx$$

$$= \int \frac{1+e^x}{1+e^x} dx - \int \frac{e^x}{1+e^x} dx$$

$$= x - \ln(1+e^x) + C$$

$$\int \tan^2 2x \, dx$$

$$= \int (\sec^2 2x - 1) \, dx$$

$$= \int \sec^2 2x \, dx - \int dx$$

$$u = 2x$$

$$du = 2dx$$

$$\frac{du}{2} = dx$$

$$= \frac{1}{2} \tan 2x - x + C$$

$$\frac{\sin^2 x + \cos^2 x}{\cos^2 x} = \frac{1}{\cos^2 x}$$

$$\tan^2 x + 1 = \sec^2 x$$

$$\tan^2 x = \sec^2 x - 1$$

$$\int \cot x \ln(\sin x) \, dx = \int u \, du = \frac{u^2}{2} + C$$

$$u = \ln(\sin x)$$

$$du = \frac{1}{\sin x} \cdot \cos x \, dx$$

$$du = \cot x \, dx$$

$$= \frac{(\ln(\sin x))^2}{2} + C$$

7.1 #5-53 odd